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Adet RMS (ppm)
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AdetRaw RMS (ppm)

(wdd) sy

0'sE8Y
v'vesy
£vesY
cvesy
T'vesy
0'vesY
S'EE8Y
v'eesy
eeesy
2'eesy
T'eesy
0'eesy
9cesy
S'cesy
v'eesy
€eesy
2'eesy
Teesy
0'cesy
9'TEBY
S'TE8Y
v'1E8Y
e1esy
2'TEsYy
T1E8Y
0'TESY
T'oesy
0'0e8Y
7’6287
€628y
2'628Y7
T'628Y
0'6287
0'8c8y
v'Le8y
€'/28y
c'lesy
T'Lesy
0°Le8y
7’928y
€9c8y
2’928y
T'928y
0'9¢8y
§'qesy
v'qesy
€'Ge8y
2’928y
T'Sesy
0'Ge8y
S'vesy
v'vesy
evesy
c'vesy
T'vesy
0'vesy



1D pull distribution

asym_hcm_target (ppb)
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asym_bcm_target RMS (ppm)
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asym_us_avg (ppb) 1D pull distribution
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g RMS (ppm)
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1D pull distribution
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asym_usr RMS (ppm)
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1D pull distribution
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asym_usl RMS (ppm)
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lagr_asym_us_avg RMS (ppm)
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lagr_asym_usr RMS (ppm)
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lagr_asym_usl RMS (ppm)
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